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1. Enter the matrices

0 —4 5 =5 6 7
A=]3 1 -2 and B = 0 -1 2 |

2 1 4
Use MATLAB to find

(a) A + B (b) B — 3A
(e) A*B

(f) B.*A

(g) A/B : A*inv(B)

(h) A\B :inv(A)*B

[
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:Matrices &ldgaall
Lt | Aol clloat! jomsl @3 Lo ol AB (slid gduall clyud : ¢y s

4 0 -3
A= [0 -4 5; 31 -2 ;2 1 4];

©) AB  (d) BA. B=[-5 6 7 ;0 -1 2 ;4 0 -3];
x1 = A+B;
xX2= B-3*A;
X3= A*B;
X4= B*A;
X5= A.*B;% the same like B.*A
X6= B.*A;% the same 1like A.*B
X7= A/B;
X8= A\B;
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1. Use MATLAB to perform the following matrix operations, given | L
A= [1 2-1; 2+1 1i];

1 22— 3i 4 i —i 0 B=[31 4 ;-4 -i];
Alari ‘*B=|—4 S 2+3f" - i O%mZe 0 2+3i]
x1l= A*B;
(a) AB (b) 3iC (c) A x2= 3%1*C;
T; A n? o T xX3= 1inv (A) ;
@ CC @ detA+B)  (f)iAB+(1-i)CC sy
| x5 = det (A+B) ;
(g) C x6= 1*A* (BA2) + (L-1)*C*C';
(h)C
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5. Consider the matrices

2 0 1 2 -1
A=|1 -1 2 and B=|0 -1
3 1 1 3 -2

(a) Verify that det(A) det(B) = det(AB).
(b) Verify that det(AT) = det(A).
(¢) Verify that det(A—!) = 1/det(A).
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:Matrices &ldgaall

1 ;1-12;3111;
4 ; 0-13; 3 -2 11];
(A) *det (B)

(A*B)

(A')

(A)

x5= det (inv (A))
x6= 1/det (A)

Workspace

Walue

[2.0.1:1,-1,2:3.1.1]
[2.-1,4:0,-1,3:3,-21]
0

-26

-26.0000

-2

-2

-0.5000

-0.5000

Size
3x3
3x3
Tx1
Tx1
1x1
1x1
1x1
Tx1
Tx1
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numel(a)
sum(a)
prod(a)
length (a)
det(a)

sort(a)
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Rational and Logical Operators : Find function

find returns indices of nonzero values. It can simplify
@ Boolean values: zero is false, nonzero is true code and help avoid
loops

® Some of the logical operators: basic syntax: index = find(condition)

Operator Meaning
<,<=,>,>= less than, less than or equal to, etc. x =rand(1,10)
inds = find(x>0.4 & x<0.7)
==, ~= equal to, not equal to .
_ x(inds)

& logical AND

| logical OR

~ logical NOT
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c=1046289,; 2350; 20677 11]
p =c(l:3 , 2:4)
t =p'
d = t(find (t<10))
d ( [1:5] I:)=O Workspace
dl = find (d ~=( ) Mame =

:

d1

p

t

Yalue

3xd double
[0:0;0;0;0:0:8]

.
[6,8,9:3,5,0:6,77,11]
[6,3,6:8,57779.0.11]

Size
3xd
T
Tx1
3x3
3x3

kin
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Class

double
double
double
double
double
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